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1. The size of the deadweight loss generated from a tax is affected by the
A. elasticities of both supply and demand.
B. elasticity of demand only.
C. elasticity of supply only.
D. total revenue collected by the government.

2. When a country allows trade and becomes an exporter of a good,
A. domestic producers gain and domestic consumers lose.
B. domestic producers lose and domestic consumers gain.
C. domestic producers and domestic consumers both gain.
D. domestic producers and domestic consumers both lose.

3. Acer manufactures and sells laptops. Last year it sold 1 million laptops at a per-unit
price of $20. For last year, Acer 's
A. accounting profit was $20 million. B. economic profit was $20 million.
C. total revenue was $20 million. D. explicit cost was $20 million.

4. When comparing short-run average total cost with long-run average total cost at a
given level of output,
A. short-run average total cost is typically above long-run average total cost.
B. short-run average total cost is typically the same as long-run average total cost.
C. short-run average total cost is typically below long-run average total cost.
D. the relationship between short-run and long-run average total cost follows no clear
pattern.

5. In a competitive market, the actions of any single buyer or seller will
A. have a negligible impact on the market price.
B. have little effect on market equilibrium quantity but will affect market equilibrium
price.
C. affect marginal revenue and average revenue but not price.

D. adversely affect the profitability of more than one firm in the market| # & & 7 4%
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6. For a firm operating in a competitive industry, which of the following statements is
not correct?
A. Price equals average revenue. B. Price equals marginal revenue.
C. Total revenue is constant. D. Marginal revenue is constant.

7. The long-run supply curve for a competitive industry
A. may be horizontal if entry into the industry lowers average total cost.
B. may be upward-sloping if higher-cost firms enter the industry.
C. will be horizontal if there is free entry into the industry.
D. will be upward-sloping if there are barriers to entry into the industry.

8. When two goods are perfect substitutes, the marginal rate of substitution
A. is constant along the indifference curve.
B. decreases as the scarcity of one good increases.
C. increases as the scarcity of one good increases.
D. changes to reflect the consumer’s changing preferences for the goods.

9. The difference between social cost and private cost is a measure of the
A. loss in profit to the seller as the result of a negative externality.
B. cost of an externality.
C. cost reduction when the negative externality is eliminated.
D. cost incurred by the government when it intervenes in the market.

10. In a small closed economy investment is $50 billion and private saving is $55 billion.
What are public saving and national saving?
A. $5 billion and $45 billion. B. -$5 billion and $45 billion.
C. $5 billion and $50 billion. D. -$5 billion and $50 billion.

11. The catch-up effect refers to the idea that
A. saving will always catch-up with investment spending.
B. it is easier for a country to grow fast and so catch-up if it starts out relatively poor.
C. population eventually catches-up with increased output.
D. if investment spending is low, increased saving will help investment to "catch-up.”

12. Suppose that the money supply tripled, but at the same time, velocity fell by half and
real GDP was unchanged. According to the quantity equation, the price level
A.is 1.5 times its old value. B. is 3 times its old value.

C. is 6 times its old value. D. is the same as its old value.
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13. Which of the following shifts aggregate demand to the right?
A. the Federal Reserve buys bonds.
B. a decrease in net exports due to something other than a change in domestic prices.

C. an increase in household saving.
D. All of the above are correct.

14. The short-run effects on the interest rate are
A. shown equally well using either liquidity preference theory or classical theory.
B. best shown using classical theory.
C. best shown using liquidity preference theory.
D. not shown well by either liquidity preference theory or classical theory.

15. The multiplier effect
A. and the crowding-out effect both amplify the effects of an increase in government

expenditures.
B. and the crowding-out effect both diminish the effects of an increase in government

expenditures.

C. diminishes the effects of an increase in government expenditures, while the
crowding-out effect amplifies the effects.

D. amplifies the effects of an increase in government expenditures, while the crowding-out

effect diminishes the effects.
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3. % (crowding-out effect) o

4. Bt 4 % (frictional unemployment) -

5. £§ 4 T (purchasing power parity) -




